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Answer any | Y of the following
3D Sardd PHOK IS T Oy

Derive an expression for the viscosity of a gas on the basis of Kinciic

hoeorv of

1.
gases.
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T TAICI SIS

" Describe the working of Carnot’s engine and derive expression for its clficiency.
s5ahodo HATosw IFTR) IS0, T SESE HDEGeT & T BoFed.

~ Obtain Maxwell’s Thermodynamic relations.
S8R sQNss F5m 00 € ST)BoB0.
4 What is Adiabatic Demagnetization? Explain the principle of Adiabatic

A S

Demagnetization.
2E'3E DEH), 0BESea S0 ©IMID? V'Y DESHI, 08EGe 5D B0,

@) D3BoTod.
5. Derive Wein’s law and Rayleigh — Jeans law from Plank’s radiation luw.
o§ D88es BomEo 5008 IR VDS, o0 - £J) Ar@Q) re)BoTod.
SECTION-B
Answer any SIX of the following 0 x5=30M
A3 8 PHOK JISrTIT IR
6. Write a short note on Mean free path.
TgE B Srdgdood 05038 (Trosod.

7. Write a short note on Entropy and Disorder.
QOIET*D, ESTIrerso R wPts (Tabod.
8. Derive the Clausius — Clapeyron’s equation.
5TOCHN - SHOS HEGpS0S Ty
9. Explain the method of cooling Helium vapour by Kapitza method.
E0ep DS o700 D00 TN WKW IFEEHNS DDV TIIW,



10. Describe Ferry’s black body.
e SHSRHD 2880504,
I'1. How temperature of sun is determined?
R Bogd SEHEL LT B8 3859

12. Calculate the efficiency of a reversible heat engine working betwee 327°C and

13. Calculate the temperature of Inversion in case of H, and Co, from the given daty
Tc for H, is — 239.9°C ang for Co, is 31°C
& 808 SS0F S0 BIRrA0D), H, S08as5 Co; Trasn8)es R e sys
& LSS SISRFORY 4
H 808, o8 eans - 239 90
Co, @08y, Sy &L fS 31°C

14. Calculate the temperature of the sup from the following data,
S=134Kw/ m? radius of the sun = 7.92x 10°Km. Distance of the sun for the

earth = 1.5 x 10°Km and Stefan’s constant 5.7 x 10 Wm“ K+
QI G 58S FLASS (S0 d&rodo egrdom 88) 004,

TEQoroo S=1.34Kw/m? M7y %o gargor =7.92x 10° Ky
=
Frd 20D Brdgd S6Sore rdo R = 1.5 x 10%Km

RIS ROP0E0 O = 5.7 x 10 Wm2K~,
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